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Al % Al % Al % Al % % INIEZ ANl % JNIEZ
| dbiEE 21,522| 972 17,734| 985 919| 594 16,815) 102.2| 9438 3,788| 915 577| 66.7 3211 98.0
i
E oM % 21522 972 17,734| 985 919 594 16,815| 102.2| 9438 3788| 915 577| 66.7 3211 980
] 4,031[ 110.2 3,016| 109.4 102| 971 2914 109.8] 966 1,015 112.8 220[ 252.9 795 97.8
5 F 3,785| 105.9 2,823| 104.6 97| 554 2,726| 108.0| 96.6 962| 109.9 331| 331.0 631 81.4
= B 7,042| 102.0 4,682| 105.0 125| 107.8 4557| 1049| 973 2,360| 96.4 1,575 136.2 785 60.8
= ) H 3,444| 935 2,563| 935 104| 46.6 2459\ 97.6] 959 881| 937 185| 169.7 696 83.8
1 (T 3,016| 102.6 2,272| 103.4 114| 172.7 2,158| 101.2| 950 744| 100.3 298| 88.7 446( 109.9
=] 6,352 95.7 4,833] 95.0 201| 53.0 4632] 98.3| 958 1,519| 98.3 432[ 125.2 1,087 90.5
N F 27,670| 101.0 20,189 101.2 743| 698 19,446 103.0| 96.3 7,481( 100.4 3,041| 1426 4,440| 835
x Y 8,091 98.1 5946 98.7 360 46.8 5586| 106.3] 939 2,145| 965 1,257 126.3 888| 724
wm K 6,204( 100.7 4269| 97.9 381 786 3,888( 100.3| 91.1 1,935 107.4 1,110( 145.1 825 79.6
BB 6,641| 102.0 4,603| 96.7 165| 38.3 4438| 1025| 96.4 2,038| 116.3 1,039/ 186.9 999| 835
B E 19,444| 105.8 14,038| 105.3 1,881 71.6 12,157| 113.6| 86.6 5,406| 106.9 3,644| 137.6 1,762 73.2
B+ = 17,664| 101.1 13,084| 105.9 777| 613 12,307| 111.0]  94.1 4,580| 895 2,602| 102.5 1,978 76.7
HBl®Em = 47,920( 107.3 33,750 111.2 2,362| 103.9 31,388| 111.8| 93.0 14,170| 989 6,692( 121.7 7.478| 84.7
B & 24.408| 102.5 17,569| 105.9 1,153 1075 16,416| 105.8| 934 6,839 947 3,486| 102.0 3,353| 882
Bl # B 7,132 982 4670| 97.9 316| 56.4 4354 103.4| 932 2462 98.7 1,301 102.1 1,161 95.2
FA Tl 2,790| 104.5 1,955 100.4 100| 585 1,855| 104.4| 949 835| 1155 835 1155 0
& % 5,805| 94.4 3,809| 944 142 35.8 3,667 100.8| 96.3 1,996| 94.3 1,100| 125.1 896 724
/AN Bt | 146,099| 103.4| 103,693 105.3 7.637| 76.0 96,056| 108.6| 92.6 42,406 99.0 23,066( 119.6 19,340| 822
E W 3,121 97.3 2211 97.7 101] 639 2,110 100.2] 954 910| 96.6 287| 1003 623 95.0
a 3,757| 102.6 2,598 106.7 191| 133.6 2,407| 105.0| 926 1,159 94.4 370 883 789 975
=B H 2,337| 838 1,810 84.1 70| 52.6 1,740 86.2| 96.1 527| 82.7 88| 3385 439 71.8
Bl B 5996( 108.2 4395 113.7 229 939 4166| 1150| 9438 1,601 955 816 101.2 785 90.2
B &% M 10,381| 98.1 7.451| 98.3 415 952 7.036| 984 944 2,930| 975 1,526 107.4 1,404 887
|2 4 22,419 100.0 15,069| 102.4 597| 72.1 14,472| 104.2| 96.0 7,350 954 4,144| 100.4 3,206 89.7
El= & 4,452| 101.3 2,904| 100.9 10 111.1 2,894| 100.9] 99.7 1,548| 102.2 884/ 113.0 664 90.6
NE 52,463 99.7 36,438 101.5 1,613 82.7 34825| 102.6| 95.6 16,025| 959 8,115| 103.1 7,910 895
% B 3,780 99.2 3,015 99.1 51| 304 2,964| 103.1] 983 765 995 317 120.1 448] 887
R & 8,837| 102.2 6,578| 102.1 113| 101.8 6,465 102.1| 983 2,259| 102.4 1,029 114.0 1,230 94.3
X K 31,850 100.9 22828 984 1,297| 106.4 21531 980| 943 9,022| 107.6 3,316| 105.7 5,706( 108.7
| £ &= 16,963| 97.0 12,935| 998 668| 89.5 12,267| 100.4| 948 4,028| 889 1,616 93.4 2412| 86.1
P = R 3,899 99.8 2,897( 103.6 109| 60.6 2,788| 106.5| 96.2 1,002 90.3 396| 102.9 606| 83.6
el 3,361 93.2 2,705 945 164| 116.3 2541 934 939 656/ 88.2 238| 99.6 418 8238
N R 68,690 99.5 50,958 99.3 2,402| 936 48556 996/ 953 17,732 99.9 6,912( 103.8 10,820| 97.6
E W 1,837 102.2 1,424 1045 8[ 1333 1416] 1043] 994 413 952 76| 205.4 337| 849
& R 1,622 84.1 1,176 845 7| 700.0 1,169| 84.1| 99.4 446 82.9 126| 161.5 320 69.6
@ 6,516 96.4 4910| 984 155| 90.6 4755| 986| 9638 1,606 91.0 675| 136.4 931| 734
L & 10,614| 105.0 6,768| 108.1 196 95.6 6,572 1085 97.1 3,846 99.9 1,410 140.0 2,436 85.7
g| W O 4244 993 3,532| 100.5 62| 126.5 3,470| 100.1| 982 712| 939 274 123.4 438| 817
| B 5 2,225 92.7 1,725 95.8 4| 66.7 1,721 959| 9938 500 835 160| 140.4 340 70.1
= F 2,953| 104.1 2,211| 104.9 13| 813 2,198| 105.1| 994 742| 1016 325 1182 417 916
2 I 4193| 101.0 3234 985 6| 120.0 3228\ 984 998 959 110.5 472| 158.4 487| 854
= A 2,574| 102.1 1,943| 100.8 101] 123.2 1,842 99.8| 948 631/ 106.4 144| 1455 487| 98.6
N E 36,778 100.0 26,923| 101.1 552| 102.0 26,371| 1010 979 9,855| 97.2 3,662| 139.5 6,193 825
BEE 17,076] 102.1 12,874] 1019 o[ o0 12,874 101.9] 100.0 4202] 102.6 1565 89.4 2,637| 1124
&k =B 2,714] 102.0 1,856 109.0 5 250 1,851 110.0| 99.7 858| 89.5 394 79.4 464( 100.2
£ K 4,735/ 101.5 3,574| 102.1 84| 152.7 3,490| 101.2| 976 1,161 99.9 425 808 736 115.7
B K 2,787| 459 2,177 474 45| 51.7 2,132| 47.3| 979 610 413 252| 437 358 39.8
n| X 2 3,786| 101.2 2,989( 103.4 44| 712 2,945 1039 985 797| 937 306| 109.7 491 858
M = I 3,653| 107.4 3,043( 116.6 31| 114.8 3012| 116.6] 99.0 610 77.2 146| 118.7 464| 69.6
ERS 4,926| 103.7 4,260| 109.7 90| 121.6 4,170| 109.4| 979 666 76.9 131] 211.3 535 66.5
b 4,974| 104.9 3,925( 107.6 78] 147.2 3,847 107.0] 980 1,049| 96.2 382| 82.2 667| 106.5
N E 44651 955 34698 97.8 377| 100.8 34321 97.8| 989 9,953 88.1 3,601 842 6,352 90.6
£E &5 397,873| 100.5| 290,633 101.7 14,243| 787| 276,390| 103.3| 951 107,240| 97.2 48,974 112.0 58,266 87.5
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